
Unit 1-5

Inverses & Rounding 

Today's Learning Targets:

1.5  I can estimate the value 
of an irrational number by 
rounding.
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Round to the tenths place. Round to the 

hundredths place.

Round to the 

thousandths place.
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Solve and Round to the 

nearest hundredth:

You Try! 

2 × 2 =
-2 × -2 =

is between 8.12 and 8.13. 
Which is it closer to _______?

is between ________and_________. 

Which is it closer to _______?

You Try! 

is between ________and_________. 

Which is it closer to _______?

Which is the best approximation for         ?

A. 1.7

B. 1.73

C. 1.74

D. 1.8 
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